ERRKRDHES

ERT—IN—2IBISH—F

20235108106 () 1401ER48

m*j??\ ik B26 [ E [ memm - | 9 s e
[XE&] 15 :440,000H  23%&:140,000 W  33#&:70,000  43#&:52,000H  53&:44,000H
B RS FRESS /IR HE B5F (F28) FA4L (5% | BBIEML | E3F |[SIEY | AT | #AE | B FIR) / BF / S£ERS
S5~ o4 | FFTR 1:37.0 7-7-4-2 | 38.1| — 3 | 451 | RERE @R
115/ 5| F=FVR #55.0 =) © S5
RANJUFv—R B:YI=F USEVS
N o TOERFRS 2 -1-1- - R (&R
) 6| T—ILRFA/5— 43 i 1.(317).2 1-1-1-1 | 38.9 1 (3_9:3) e
RINTYYL—Y B:TPAAYISAR ®)l| B—
§ g e 37, 22 1] - SEH= @R
3 5 | HR=VILK v 6 | B 1 (327) 6 3-2-2-3 | 39.1 5 (4_83 e~
YZRYI—ZZRI— BIAILYF SIS
°— 3w 4 | BERXH 1:38.1 5-6-5-5 |39.3| — 4 | 482 |NEERDE (&R
44 4| AN —vavh * ol 2172 @) | @ Ir—2bEvay
RiS=Z B:RA— H-FV ARt KIERT—TIL
< LIRF : - EEME (&)
slglo9 R— XA UFY 4t 6 531.0%4: 1.3]8).3 8-8-8-8 | 39.0 2 48)9 %Eg (&R
R:AJU—ve—0— H:5/V—-Ya TATPAT7— 1
6 | BMIHD 1:38.3 2-2-2-4 |39.8| -— 7 45 | EBfae @R)
6(1/1|FTEvYTEL TS NF) 4o | @ T. UK.
R:O0—RAF0O07 B:FT)LEL Bl =
w S 4 4 | BABAR 1:38.3 5-55-6 | 39.5| — 9 485 | £E—E &R
ZH 3|FVIAXIw 56.0 F9%) (7) | AR
RiFAITRXIv— B:XIOHKU—3X LAo945T7—1A
NN\~ — )\ Y 6 | FARK— 1:38.7 9-9-9-7 [39.1| - 8 454 | EHEX (&R)
sl 7| TA¥YNI=N 70| % @ oy | @ F7=xhevay
RiTALik—L B:IAYIHYITT SERUS
- » P JIZIETE : -4-5- - )1z (&R)
9l8ls FE1S52 /97 v 5 e 1(.33/84.)8 4-4-5-8 | 40.1 6 (4:371) e
R:ZRIU—vEe—O— BILEFALAT AR
@ 11— —‘@BIEfI
10—7+— 6,1,2,8,(3,4),5,9,7
251—h— 6,(1,2),8,3,4,5,9,7
BEIESSES 6,(1,2),5,(3,4,8),9,7
43—F— 6,5,2,1,4,3,7,(8,9
0 ILRE
BB 5 910 JA R 5-6 240 & 5-6 320 3EE 2-5-6 980H
B B 5 240M 2=l 810M =] 5-6 2,150H 3EE 5-6-2 18,5704
6 1004 2-6 2904 5 & 5-6 470
2 2704 BB 5-6 2,710H
ABCDOVTIRHTERERRODDZ, THERAILZETL




